A - 4=Gr. 8 (gold) 5/16 USS WASHERS
B - 4= 5/16 X 3 1/4 BOLTS

C - 4= 3/16 X 1 ZINC WASHERS : . CEACTURING
D - 4=1"PLUGS www.savantmfg.com -

—E - 6=5/16 LOCK NUTS # 561L
TWO OF THESE NUTS WILL BE USED UNDER THE 2005 POLARIS SPORTSMANS

FENDERS ON THE STOCK BOLTS THAT HOLD
— THE COMPOSITE RACK TO THE UNDER FRAME.
THEY ARE USED TO KEEP THE BOLTS FROM
PULLING THROUGH THE METAL.

Caution: DO NOT
USE AIR TOOLS to




		2005-05-26T14:50:54-0600
	E.L.




